N = 0 &8 AFH Y & A AN
20169 & 20l & LB H M33P HEXJ ~ A7 A=
SN HEP HYXD
Hu: FooE nHed
ool gHUEXE PH2Y N CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
N7 HE X2 16,214,952 15,175,665 1,039,287
=2 43,879
Al 16,171,073
FUOE D2 A 1,812,712 2,015,384 N202,672
geEgie 2829 A 202,926 238,812 N 35,886
2E AL =8 Y X 113,576 107, 130 6,446
201 LEt2AY| 48,620 42,844 5,776
01 AFR 2t2ldl 16,060 13,620 2,440
OHZEE L 28 R 1,500& + 5000H 750
OEzE Y A2H HOIA 5,500& = 5000H 2,750
O3 EH&xY 70,000& + 58 « 103 3,500
OXNIANE LA 230,000& * 23] 460
OFAZZE Ul =H| 1,700
o282 120,000& * 5% x 23] 1,200
ogst=s 100,000& * 59 500
OXTUANL AREX 2|
7,000& = 3098 ~ 10 2,100
OAEER =& bl 20,000& » 29 = 50 2,000
OAUZYAN E2 S8 70,000& = 403 2,800
02 332494l 32,560 29,224 3,336
OHFAMNREH R 1,200
ONEHS A 15,000,000& * 8% 1,200
O0lsd doi2g= 80,000& * 3924 31,360
203 2R E Ul 12,000 12,000 0
03 A=A R =AH| 12,000 12,000 0
OYCHDRAHA L HHFAR FA
12,000,000& 12,000
206 T2 HI 7,966 6,976 990
01 = bl 7,966 6,976 990
oLZitx2J uH 7,966
OQJ2) ME(8xE) 8,000& * 300H 2,400
OJt27] 4,000& = 1,000H 4,000
OEH2IIS(HSLUHE) 24,0008 * 45 = 604 576
O=J Z0olt4 9,000& * 11 H= = 104 990
301 Bt A= 33,690 33,250 440
02 ¥st=dstit= 32,370 32,370 0
O0lsS&XNEHE K= 647,400% * 25H * 23] 32,370
09 HAIAHI BEAZ 1,320 880 440
OM3F OIS&EE2AS 2¢
10,000& * 1Y x 63 660




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OM3F FCUXXNRAAE2AS 294
10,000& = 11 « 63l 660
307 glz2tol & 11,300 12,060 AT760
05 RIZERI & 3 11,300 12,060 AT760
O=3d¢ JH2J| AH - 2el € FHA
,260,000& = 53 11,300
SESA HFAMHA =X 17,790 57,002 N 39,212
101 @124l 17,370 56,582 A 39,212
04 JIZHHZ2XNSE =+ 17,370 56,582 N 39,212
OHIN o182 48,2803 = 1% = 262 « 128 15,064
OAMNUEE= 1,606
O=RdsRE= 15,064,0002 * 4.5% 678
ORVALBEHLYS
15,064,000& * 3.035% 458
OFIRAEERLES 458,000& = 6.55% 30
CLEZEZREZ 15,064,000& * 1.5% 226
OdAMHNELEEZ 15,064,000 * 1.42% 214
OHIARA ZEFOHHl 200,000& » 1H * 23] 400
OHINRA SXELE 300,000& * 1¥ 300
201 Lt 420 420 0
01 At 22l 420 420 0
OgEEE % MH
70,000& = 34 * 23 420
A 2H=EX 58 20,400 17,520 2,880
201 Zet24E] 14,400 11,520 2,880
01 At 22l 14,400 11,520 2,880
ONFSEs T2IY 2Y BMLY
300,000& = 401 = 12& 14,400
303 L& 3 6,000 6,000 0
01 243 6,000 6,000 0
oOR+=32d & 100,000& = 10¥ = 63l 6,000
AN ASIE R ME K& 51,160 51,160 0
307 glz2tol & 51,160 51,160 0
02 QIZtE A AHEE 51,160 51,160 0
OHS MOISXNZ=XE23 ALK
1,200,000& = 1100 A 13,200
O%Hs MOIS2Us AL A&
1,200,000& = 11004 13,200
OHS HIEAHAIIAAE ALK
1,360,000& = 11004 14,960
Ogt=X7EHY Bs=23 AHXA
600,000& * 8IH A 4,800




3 SN
JolE PHEY
dAdxes FE24E N (&)
= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
OUSHEN NHIASAU AFHX R
5,000,000 * 1JH 2 5,000
HEYEFANE JIsEH 165,140 163,900 1,240
FFE ol 299 165,140 163,900 1,240
201 L Er2A | 3,100 3,100 0
02 =24l 3,100 3,100 0
OUEO0I=0lAE HHaMY B8a
250,000& = 13l 250
OONE0ld TAIIIA 22 2,850
OSEI(FHA, ) 500,000& * 53 2,500
OHISEII(HAF, <E) 50,000& 7€ 350
206 M= Hl 3,000 3,000 0
01 M= 4l 3,000 3,000 0
(©ME=SMPY N mE 1,000,000 * 33 3,000
307 21201 A 157,200 151,200 6,000
10 ALSISEXAIEEE2EHEX 157,200 151,200 6,000
oogold 2gdl XN& 157,200
oxd 2,700,000& * 1€ » 123 32,400
= MESE | 2,200,000& » 4% » 1228 105,600
Oxel& 1,600,000& » 1H » 12& 19,200
405 RHoHF S HI 1,840 2,600 AT760
01 et EZFH S 1,840 2,600 AT760
Ok= oz wH 1,000,000 = 1CH 1,000
Ollzw=% Wi 420,000& = 20H 840
I8 B2 SH , T A I3t 57,288 55,400 1,888
MY FEIIE FA 20,106 20,686 A 580
201 Let249] 13,880 13,960 A 80
01 At 22l 10,880 10,960 A 80
oOAZE FFYREON R 6,500
O&FI gRE1AM R
10,0003 = 505 = 23l 1,000
O4Al 22N RO
10,000& = 508 = 23l 1,000
Oz #HE MRBLA 22l
10,000& = 1008 * 13 1,000
O=ANMEDN RO
10,000& = 505 = 23l 1,000
OFRES AdHEEN 2
10,000& = 1008 * 13 1,000
OANZEAEAN F 10,000& » 1005 =13l 1,000
O3 =d FHEENN R
10,000& » 502 = 13l 500
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SN HEP HYXD
Hu: FooE nHed
Celt RE 1Y B SN, UA A2V CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O3 gRE N5 &40 M=
70,000& * 83l 560
O2E HAH &AL ASE 1,200
OOl XItH 250,000 = 43| 1,000
Osgsz 50,000& = 43| 200
(OFSPNE=] 800
OAI#HF=R L T A AL 100,000 » 3Y x 23] 600
OJIMEE BT A A
100,000& * 29 x 13| 200
ORIIRFA S| 7,000& * 49 *» 65 1,820
03 & AtE H 3,000 3,000 0
OMALEARE 2H 3,000
Ood3ge EE2 ¢HJ 1,000,000& * 13 1,000
O RE BN HMZ 10,000& * 1005 1,000
Od3E |35 1,000,000& * 13 1,000
202 04| 5,226 5,226 0
01 2LHO HI 5,226 5,226 0
OFRFHAR=X Yl 20,000& + 4% = 35 2,800
OEt MRS &KX AS
5,800 * 169 * 2 2,426
405 X+HaHF SHI 1,000 1,500 A 500
02 & A Fbl 1,000 1,500 A 500
oAz a = AP 10,000& = 100& 1,000
A2 ol FEEER 31,238 28,598 2,640
201 et A | 31,238 23,598 7,640
01 AFR22t2ldl 31,238 23,598 7,640
oA JIEsEzE ¢« B 2,830
ootz 5,000& = 5000H 2,500
O AFE H X} 11,000 = 30H 330
OHIANE MERSZ 15,408
O=< X 15,000& * 9IHAI x 38 x 12& 4,860
ORI K] 13,000 * QAL x 75 = 128 9,828
OF2HX 5,000& * 4 Al x 3% x 12& 720
ONEAT E2= NE 5,000& = 2,000 10,000
ONINE EE2 SEHA M 3,000,000& 3,000
SHE 2A FA 1,720 2,530 A 810
201 Bt A | 280 490 A 210
01 At 2t 2l Yl 280 490 A 210
OXNMZAMERF=E S &
7,000& « 5H » 8L 280
202 (4] 1,440 2,040 A 600




MNEP HEX S
FooE AHeY
28 JIE EE EH,2A LG e ®H)
(o
SN ED B (3H) - MEAY - BAS %Ei HD=2
01 2L I 1,440 2,040 A 600
OXNMZAIEEF=& 4|
20,000& = 5 = 8¢ 800
OXSUH U FANLD T
20,000 * 29 x 16 640
HES SHIZA 4,224 3,586 638
101 124 4| 3,584 2,946 638
04 JI2ZtHIZ22NEES 3,584 2,946 638
OSHZEAI EREX o822 3,186
OZ M= A 53,070& * 1 » 20< 1,062
OZ I H XS XA 53,070 ~ 1 x 20 1,062
O AFE| R A} 53,070& * 1 x 20 1,062
OEHZAN EREX B8 22 398
ORoez 23
1,062,000 * 4.5% = 3H 144
O=Z0AH2AEEE 2 B2
1,062,000 = 3.035% ~ 3H 97
OINRAESEZE B2 97,000& * 6.55% 7
onges 23
1,062,000 * 1.5% * 3™ 48
OAtATHO B2
1,062,000 * 3.2% * 3™ 102
202 04| 640 640 0
01 2Lyl 640 640 0
oA SHZAF =& 0dd]
20,000 * 2 x 16Y 640
WS BAIEAE XM 621,246 903, 193 N 281,947
st SIAHE R Ml 145,688 126,259 19,429
201 LBt | 145,688 126,259 19,429
01 AP 22| d| 9,770 7,830 1,940
OLU2tEE (2HIE) 018 =42
20,0008 = 100H 2,000
OZHEE L HAK 3,580
O HELR2F=X £=EH| 3,580
“HorppYgE Ry 50,0008 * 53 250
-3 HAMA RO 602 = 2, 00000 * 5= 600
=32l et el 2732 « 10,0004 2,730
OAYOHNMNE 49 A 70,000& = 23| 140
O3H NEANE NSEHI| B 1,550
O& A 70,000& = 10&fA 700
oed 170,000 = 5N E 850
O=23 20 2HEI =2
250,000& * 2JHAF * 53] 2,500
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SH HRT HEXAD
[u}

M FopE P
Met HASY T4 9 H)
HE - B2 (3) - HRAY - BAS Of & 24 il
02 3324l 135,918 118,429 17,489
OXES R 2tel 39,785
oMYyEsy & 34,850
-5&i 4 ¥ 350,000& * 2CH 700
-SEX € 460,000& = 504 2,300
-SEX UE 600,000& * 1CH 600
-SEA e 860,000& * 1CH 860
-SEA AE™ 470,000& = 1CH 470
-2Jl g& 900,000& = 1CH 900
St € 400,000& = 1CH 400
-St2X HE 820,000& * 15CH 12,300
-3 SE 660,000 * 4CH 2,640
-St=2 X A ¥ 720,000 * 19CH 13,680
OXtS xHAl 2,635
-S&X 4 ¥ 75,000& = 204 150
-SEi ¥ 250,000& * 2CH 500
-SEX UE 400,000& = 2CH 800
-SEX e 120,000& * 1CH 120
-SEX AE™ 70,000& ~ 104 70
-=J 82 200,000& * 1CH 200
St € 100,000& * 1CH 100
-St2X e 200,000& * 1CH 200
-2t SE 55,000& = 4CH 220
-st2x A ¥ 55,000& * 5CH 275
OZMNERE= 2,300
-SEX UE 90,000& « 2CH = 23] 360
-SEX HE 205,000& = 1CH ~ 22l 410
-SEA AE™ 50,000& = 1CH = 23] 100
-Sx=i € 105,000& = 1CH » 22l 210
-S=X SE 90,000& = 4CH = 23] 720
-st= X ~E 50,0003 = 50 = 22| 500
OHZT N2 (58,58 .32 . S11)
27,000% = 1904 = 23 1,026
OEIFLIN(ESE . S8 .32 .S¢1)
51,000& = 1904 969
OXtg =Xt 94,138
Os&8xt 4,908,000& * 6CH 29,448
Os&ext 6,551,000& =+ 2CH 13,102
Ost=xt 4,299,000& * 12CH 51,588
SEH SFMA 2e| 4,061 3,832 229
101 1Al 3,057 2,828 229
04 JI2ZtHNZ22HEE =+ 3,057 2,828 229
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SH HRT HEXAD
[u}

Bu: Fo0E 232y
& HEE FAMEE XM (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&F ST & AH|I(250E) 3,000,000& = 13l 3,000
OdJ|etEd e tuE SEH|
90,000& * 13 90
Oagotdze|tuE SEH|
200,000& * 13 200
OsZJl&eluns sS| 20,000& = 13l 20
OJtAotd 2| L E S|
35,000& = 13l 35
02 =224l 262,310 270,340 A 8,030
OFAIZel 2223 185,762
O&IJIe3 6,700,000& = 123 80,400
(O ES L=, 5,000,000& = 12& 60,000
O&odl=ER=a 3,500,000& » 12& 42,000
OA Yot & 3l 60,000& * 13 60
O&IIetd 2te| I+ E 3l 185
-JtHl 100,000& * 13| 100
-g3ldl 85,000& * 13 85
OZAIAHABEZ(1EHAH)
25,000& * 13 25
028 =4 D U=
40,000 = 12& 480
OCUSRERE= 500& * 10,446m = 50% 2,612
OAIE ZHI S X 71,193
OEMAZS XY 4,040 * 17,622m’ 71,193
ONHAZE oy HIt 49|
1,200,000& * 13| 1,200
oxun=Egeitdr SR
9413 + 204 = 150 2,823
Oodl&gdI| 7 b 1,332
O=FHl 1,325& * 54 = 50¢ 332
Os X 2eldl 1,000,000& * 1CH 1,000
206 M= Hl 22,778 22,670 108
01 =8l 22,778 22,670 108
OFAIZE BLAES 14,124
B2 EsEX 2 43
200,000& = 5& = 12& 12,000
OoMgIIAASE 1,770& = 10001 = 123 2,124
OaListEt 2283 100,000& * 12& 1,200
QJIHA RX E+EF 1,350
OJtAEZEH2 50,000& * 9& « 33 1,350
OAgAE 228 22X 2 264
Oxtsa 2X2II 6,000& = 201 » 12& 144
og2xXx2l 5,000& = 204 » 12& 120
OLLEHES 100,000& * 53 500
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SH HRT HEXAD
[u}

Bu: Fo0E 232y
& HEE FAMEE XM (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ode+) d2BE 89 79
30,0003 = 48 « 43/ 480
o222 | 457 1,000
O&2H 3,500& = 14 = 200¢ 700
O=22H 60,0002 *» 58 300
ORI & LEAIE XY 100,000& * 58 500
OEMAI 228 P 3,360
OetdIl 2 638 40,0008 * 7& * 128 3,360
401 AIEHI L 2CHEI 143,908 123,896 20,012
01 A& Hl 143,908 123,896 20,012
QJIHA H2I10] M2 35,000& = 340RT 11,900
oA FI| TAME M2
4,000,000& = 13l 4,000
O AN =Z & 2,400 = 2,916m * 33| 20,996
OFAU HHER A=2EX= oAl
24,592& « 797m’ 19,600
OF ALY AIRA RAH A AX]
6,637& = 797m’ 29,200
OWUaloae 24 FAHA =4
189,259% * 54m’ 10,220
OCtlYRANSE =B ZZ FH|
8,300,000 = 14! 8,300
OEMU =XE N M 33,2563 = 433m’ 14,400
OFM 2AIE =4I| WHSAM
2,000,000& = 14 2,000
OeANEZ MCCEE WM IS A
11,000,000& * 14 11,000
OMEFTE HE0d cl22d SA 4,001
224 THHAS 6,330& » 316m 2,001
O020lE e SESAH
2,000,000& = 14 2,000
ORUFXFL VUAAFA ZX QH2IHSA
8,291,000& = 14 8,291
405 XtAHE SHI 6,785 222,400 A 215,615
01 AR ESFH S 6,785 222,400 A 215,615
OFAMAE XA B8 27 ¢ 790
SN LR A 450,000& ~ 104 450
OdloId AHels5EFII 340,000& =« 1CH 340
OUsIoaed SAHAY 280 OE FI 7 5,995
O 1t 487,000& = 30K 1,461
Ot X2 &t 298,000& = 1204 3,576
OSTEX 85,0002 * 44 340
Obtel Xt 103,000& * 6K 618
Y25 JgES U HE X 766,112 654,079 112,083




SHTMRT HEXE D
Bu: Fo0E 232y
& 23 Jigtxd 2 28 & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHE MO HHFE S 29H 398,273 318,828 79,445
201 £B-2d| 169,948 178,328 A 8,380
01 At 22l 36,000 25,505 10,495
OFE AZEYNH P 36,000
Ostad Ul A 2014 210,000& * 502 10,500
OMS2Il A 2013 420,000& = 50= 21,000
OgEZX 9.0 45,000& = 1002 4,500
02 =24l 133,948 152,823 A 18,875
OdAMTH L AMLAE SANES 110,520
O7& .86, 8 422 ZTFH(4590)
3,540,000 * 128 42,480
O7& ., 8,8 dlold ZglE(21000)
660,000& = 12& 7,920
OH,s8 LUIALZI(18LH)
4,100,000& = 12& 49,200
OH,8 SEUIALSII(17H)
910,000& = 12& 10,920
OAXZEAHESNMZ S 1,932
OsotEAA 38,000& = 12& 456
O2ZTEY N 123,000& * 12& 1,476
OBHAIS/W AtE R RIHI (201 A) 21,496
OPCE 84l T2 30,0002 * 5002 15,000
OMBE Wil =22 437,000& = 8= 3,496
OUWPCXIZI0I IOIME =208
30,000& = 1002 3,000
405 XtatE SHI 228,325 140,500 87,825
01 AR ESFH S 228,325 140,500 87,825
O3 & H SF0MH HEAREH WA 146,000
OgRE F=H 1,400,000& * 60CH 84,000
Odiold Z&lH | 600,000& = 50CH 30,000
OsSgALZIN(=FXH I LUAHM)
8,000,000& =« 4CH 32,000
ORALZI(=FFHUI L)
25,000,000& =« 3CH 75,000
OFRUSEYRE AU 500,000& =« 5CH 2,500
OFUSEURE Y T
165,000& * 5CH 825
ORAUALZI| CCTV(AEIS, +=328)
2,000,000& * 2CH 4,000
FBSH JIEAE 29 367,839 330,251 37,588
201 L2l 247,314 235,651 11,663
01 At 22l 2,000 2,000 0




SHTMRT HEXE D
Bu: Fo0E 232y
& 23 Jigtxd 2 28 & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONSEZA =330 Wd++8
200,000& « 10CH 2,000
02 =224l 245,314 233,651 11,663
OSHHEESIH MNEZ 126,240
O=tEES4Y AIER 102,600
T Al 1,300,000& » 13/ » 123 15,600
-Heod 1,000,000& = 23| & = 12& 24,000
—fes 550,000& = 93l & = 128 59,400
L ER-EE P
300,000& = 13l » 12& 3,600
OdEsld AEE 17,640
LT B]
130,000& = 634 » 12 9,360
-Heod S 08
30,000& = 233/ = 12& 8,280
ONeT osgss
500,000& = 13l& *128 6,000
OdHENMS MEZ 4,000,000& = 12& 48,000
OgBtdst AHER 7,000& * 83l& * 128 672
OAMEE LMD (BEHA)
20,000& = 1314 = 128 240
OIEHWIH 2H AEZ
33,000& » 163 » 123 6,336
OFESHEH |X2e 63,826
OANZBEESAFH 2,661,900& = 12& 31,943
OdZdstwad| 1,541,8008 * 68 9,251
ogzesl 122,000& * 128 1,464
ORZEEAZX 157,000& » 12&8 1,884
OMSEB AN ZFEHHI 300,000& = 12& 3,600
oL SEI 721,000& = 123 8,652
OCCTVE HI 378,000& = 12& 4,536
OR2AE S| 208,000& = 12& 2,496
202 (44l 1,600 1,600 0
01 = LH o4 1l 1,600 1,600 0
OFESUSAL AFZBEZ AL =& I
20,0003 = 298  40¢ 1,600
206 = Hl 3,000 3,000 0
01 M2 4l 3,000 3,000 0
OFESUHANE 22 N H 3,000
OuTPAHIOIE 2 103 1,500,000& * 23| 3,000
401 Al HIZ 2018 30,000 90,000 A 60,000
01 A& HI 30,000 90,000 260,000
o7& & 8,8 FUSEEZ FH|
5,000,000 = 23l 10,000
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SH HRT HEXAD
E PS

Hu: FopE 2EeY
& 23 Jigtxd 2 28 & (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFAL CCTVIISIMHA At 20,000,000 » 14 20,000
405 TtHabF S| 85,925 0 85,925
01 AL EFSHSHI 85,925 0 85,925
OZAEEI WA 500,000& = 10CH 5,000
ORolALZI| 2tREH X
18,000,000& * 1CH 18,000
Ox& A", UWE/KI3AA<X WA 47,685
OUESZ POEARIXI(48ELE)
6,737,000& = 5CH 33,685
OUESZ POEARXI(4ZLE)
3,500,000& =« 4CH 14,000
OUERIEHl UPS BHE 2l WXl 15,240
O+& F2s44 UPS el WA
330,000& = 2004 6,600
O HdH UPS BHE 2l WA
960,000& = 90 A& 8,640
AEE ZaHE 29 32,700 61,095 A 28,395
A&8s ZaHE 29 32,700 61,095 A 28,395
AEE REs2Ey =4 4,920 4,950 A 30
201 LBt 4,920 4,950 A30
01 At 22l 4,920 4,950 A30
Okl N MY HHHMI L EESHE
5,000& * 5008 2,500
OLcigsZEN NEAM 23
120,000& * 2% 240
OcHHsZYN ws =% ME
70,000& * 204 140
OSHBAWMANL(SSAM) HHEY £48
360,000& * 23 720
OSHYHALYI =HIY NS (bEXNE)
660,000& * 23 1,320
sUl MSAIE 2| 27,780 56,145 A 28,365
202 O4dl 1,280 1,280 0
01 = LH 4 1l 1,280 1,280 0
OSUHMSAIE HRFE Kbl
20,0003 = 2% » 32¢ 1,280
TAIEHI &2 26,500 54,865 A 28,365
01 A& HI 26,500 54,375 N27,875
OsUXMSAE RANE> 25,000& * 300& 7,500
LE 230F dA 3,000,000& = 3& 9,000
odoly 2327 23217 &X
10,000,000& * 1JH 2 10,000
grare 299 318,375 285,856 32,519




D Al — — [ep] ™ o o [ [ o) o Ye)
— © © (<o) [ep] ™ o o — — < ™ —
0 e oo R q |« N o ©
I ERE > < e =
KIo
E|
=)
© o Y] Y] o o o o Lo Y] () o (]
Y} 00} o o N~ N~ o o N~ N~ — o —
o) ()] ()] (o)) » < o) [Ye) (ep] ™ © [ep] [ep]
|~ o | o — | = — | = — | ©
®o | < ™ | — —
WH3r [ | — A
uilEd!
Pdk=
Yo} [aN] © © © [ap) ™ o Yo o o) o o o o o () [ee] o o o [e 0] [o0) o [o0) o o) o o o o o o (e) Ye)
N~ <t © [¢e) © o o ™ (o] [e] () o o o o o [o6) o o o o o) o) o © D Y] [ep] (<] o o) o (@) o) (V]
S|loleld olee o S od S ~®L & ©F|I§¥ |0~ F - oldad = ©oSF I Y0
0] < o o <t o — [aV] — — — — — — Y] © <] N~ [aV) (<] © [ep] (o]
- |2 - | LN o © N N
ar
<
=3
o] o} W W o < I+ = ol all = W all A TR )
w ™ b [aV] == o o [ Y] o [Ye] w0 [aV] N [aV) D
gl Tl = re) S ™ S al =) - = = ©
* * — — % o S * —_ — % (<7}
—_ - ~ x - x — * * * *
or 80 4 R - 4 W * I
0 < - o [} x N fafl} — o - o T T o
X ~ = = O — o N wH = S ) A — — O
el * ™ N N oF) S | * o ~ O — —_- - - O
I o o o S Ok x S o - — S
. of * - T S o o 3 of) W S o B x g
3 3 o = T = S S - I
N o 7w S S = S S W o 40 < o o
=< |a o 8 T %8S <™ R S < = - S, 8 8
o < P S 5 - — Ko 00 & o B x . =
Ik Bl of o D S O © R o <+ N > w S 8
=z | S ) T @ = © o o & &
.o BooE S 3 20 = g o r
= |0 N ook N = i w ¥ 5 W o
= or 00 ur L] it = = nJ
ol | o o) = 0or ] no = =
- |z |X s oMW ERS 0o o
oF Kk = 2 = 0 N 10
& K| o Ny - |D r oF of = | no |5 - T 10
w o mnJ 30 | oF = 70 oF =) U T | % |T0 T 30 ot
- oo |2 E O |F B0 %0 SR ] T |D W <0 | M |50 s o R
W[ o g ® (A |0 3l ol o @ 5|3 wo|n d 5| | @) O O
R0 0 o | = al | © © © S |0 = |= O O | |R
. 8r |oF | — | = — | = [ = © | = — | =

0

ol

ol




2N

PEERTbE
B oigel 29
el pleSloiE A4S U AE=RQABE CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OXNHEUSLAUE dX = Kbl
75,000& * 3959 29,625
305 HAa=2S 500 500 0
01 HiM=2S 500 500 0
001 EHS AME2 UaHAS
500,000& * 13 500
307 212t01 & 500 500 0
01 2L P2 =4l 500 500 0
oogde =sE R24AL Xz
500,000& * 1H 500
401 Al HIL 201 21,960 0 21,960
01 A& HI 21,960 0 21,960
oY NEH LSEH WA
21,960,000& * 14 21,960
405 XHakF SHI 1,500 1,500 0
01 A&t = S F St 1,500 1,500 0
ool W& M| 1,500,000& = 1CH 1,500
HES MNII=ER2 22 123,255 118,968 4,287
201 Bt A H| 1,980 2,090 A 110
01 AFR2 2t 2l Yl 480 500 A 20
OAZERA HEEE 2 10,000 = 100H 100
OMI=SRRE 22N ZAIE
120,000& * 23] 240
OAIERAA AAdNE 8 H&
70,000& * 23] 140
02 33249l 1,500 1,590 A 90
OR&aMAEH 30,000& * 509 1,500
301 Bt A= 121,275 116,878 4,397
0B M =RRIABAZ 121,275 116,878 4,397
© Q2| 113,400
(@)= 178,000& = 25 » 12& 53,400
O & Al 7,000& * 259 x 2502 43,750
Onstl 2,600& * 253 x 250 16,250
o=22s 7,875
Osot= 46,0008 * 25 x 24 2,300
OoFs= 47,000 * 25 * 24 2,350
O &bt 52,000 = 25 x 14 1,300
Os 7,000& * 259 x 1JH 175
O2 X 5,000& * 259 * 204 250
O3t 30,000& = 259 = 204 1,500
S2XNEs s & 778 18,908 A 18,130




SH HRT HEXAD

ol 29
el plEelely s o

ABERR

o
]
al}

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 778 1,908 A 1,130
01 At 22l 778 1,908 A1,130

OSXgs dFARE 7 325
OxZely &4 220,000& = 14 220
O=ALE Xl (A4) 21,0002 » 59t A 105
ogss 74 350,000& = 104 350
oHlatiblg e 2228 M 103
O8 5 70,000& = 104 70
Oogzre 33,0002 * 1K 33
BHSYBU (MR HFNAD) 14,051,165 12,813,330 1,237,835
= 43,879
Al 14,007,286
ol 2d | 13,545,143 12,373,876 1,171,267
= 43,879
Al 13,501,264

ol Al 11,463,254 10,353,878 1,109,376
101 14 dl 11,463,254 10,353,878 1,109,376
01 2= 9,517,018 8,864,989 652,029

oJles 6,578,033
OdHSUHAX(42) 80,411,000& » 1H 80,411
Ogetal 6,497,622

-5 4,238,100& » 898 » 128 406,858
-6 3,608,700& » 69 » 12& 2,988,004
7= 2,891,400 » 46%H 12 1,596,053
-8 1,978,500& » 50 » 128 1,187,100
-9 1,566,700& * 178 * 123 319,607
o= 1,755,549
Ooxzuze=4 641,669
“A2te2fe 4
9,332& * 191H = 30AI2t = 128 641,669
Ozelge=¢ 400,000& = 8H » 123 38,400
OlRSRE=E 47,674
-2 BtA5g
3,608,700 * 8H » 4.1% » 128 14,204
-2 BtxEg
2,891,400 = 16 » 4.1% 128 22,762
- BtRT7g
1,978,500 * 11H » 4.1% = 128 10,708
o&32=+¢
6,497,620,800& * 1/12 = 50% * 23l 541,469
OFSF=t =PI Fig= 181,800
-25 0] &f 130,000& » 57 » 128 88,920




PN HFRA L

DRI IH (MR EEAFDL)
24

(=}
=]
=

SN HE B (BH) - HRAY - B

-20= 0 &~253 0] 2

10,0008 * 419 + 122
~1514 01 4~201 0] 2t
80,000 * 142 » 128
~101 01 &k~ 1544 0] 2t
60,0002 * 162 » 128
-50/ &4~10 0] ¢
50,0008 * 23% » 128
OJ=4g
-b 2 Xt 40,0008 * 1169 + 122
SIEDES 20,0008 * 2589 + 12
SPEL T TH
-nsEy 433,8808 * 329 43
OSOEX4Y 500,008 » 112 « 128
odga2sy
2= 50,0008 » 4% « 12
-3 40,0008 * 3% « 128
Os+g2sy
IR
.53 50,0008 * 3% * 128
- 6-73 30,0008 * 452 » 128
- 83015 20,0002 * 272 * 128
e RS
SIEY 50,0008 * 194 *123]
JISE - JIA 30,0008 * 36% + 128
RA=BIPN 20,0008 * 14% » 128
el R 30,0008 x 1Y « 128
-HagRLg 50,0008 * 29 + 12@
REENEEETE
30,0008 * 25% » 128
- RN 250,0008 * 2% » 128
o ZAlH| 130,0008 * 191% * 128

6,497,620,800& = 1/12 » 60% * 23

O It &I

6,578,031,800% * 86% * 1/12 = 1/30 » 15¢

oJlez(2aay)
O30 01 4 3,253,800 * 42 « 128
O 151 0] &4~301 0] 8
2,823,900% * 9 * 128
o+g(xELE)

54,120

13,440

11,520

13,800
117,600
55,680
61,920
55,537
55,537
66,000
3,840
2,400
1,440
61,560
24,480
1,800
16,200
6,480
16,920
600
12,960
3,360
3,960
1,200

9,000
6,000
297,960

649,763

235,713

781,880
461,165
156,183

304,982
171,738
102,955

=

i
2m




SN NET BIXAD
Mo MESAAY (NP AKX D)

eel: §§§§u| o (ol &9)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NFIEES=EN=
8,591& * 13" » 30AI2t » 123 40,206
EEL RS
3,660% * 3H  8AIZH » 365 32,062
~£U224Y 88,180% * 3 * 1162 30,687
o¥2+g
461,163,600& * 1/12 = 50% » 23| 38,431
(OFSFmE ot =) P\ = 18,480
-25F 0] & 130,000& = 7H = 12& 10,920
-20 0] &t ~25 0 2t
110,000& » 5% = 12& 6,600
—-15@ 0] &~20 0] 8t
80,000& = 1% = 12& 960
OfEs=E 7,680
—bH < Xt 40,000& = 1198 » 128 5,280
-JIEHHS 20,000& = 108 » 123 2,400
OXtHstHIEx+Y 3,472
-NSsHM 433,880 * 2% * 43| 3,472
OS2 (&) 30,0008 * 2% « 12&€ 720
CECENEIEEEES
130,000& » 13%H » 128 20,280
OYESIIH(EAZZF)
461,163,600 * 1/12 * 60% * 23] 46,117
CEPEPTITEEES
461,163,600& * 86% *1/12 » 1/30 = 152 16,526
OB (HIZEHE) 461,165,000& = 1.5% 6,918
OUALE =532 2=+ 59,136
OJles 1,282,800 * 80% * 4% * 12& 49,260
OxzH2Zf+E
7,573% * 4H » 10AI2F » 123 3,636
OFHZ A 130,000& * 48 = 123 6,240
03 RIAHAZ 2 E =+ 1,164,356
OYREX H AL 126,818
oA =s(ta) 79,948
-144 Xt 23,075,730 * 1H 23,076
-104 Xt 21,245,130% * 19 21,246
-3¢ Xt 18,041,580& * 1H 18,042
249 Xt 17,583,930& * 1H 17,584
OF=1 20,519
s 2,640
i < Xt 40,000& * 3Y * 128 1,440
JIELE 20,000& = 5% = 12& 1,200
-HE2E2SY 88,0004 = 4H » 123 4,224
RSP E=
25,821,630 / 3656 * 4% * 20 5,660




SN NET BIXAD
Mo MESAAY (NP AKX D)

=
: 0l

=

H0 M

02 0

]l

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
25 7,995
OFE S ItHI 79,946,370& /12 * 60% * 23] 7,995
O= &l 130,000& » 4% « 128 6,240
Oun &t 130,000& * 49 = 128 6,240
OJHAIX & HI 115,000& » 3Y¥ = 128 4,140
OXMEHEHEESY 1,736
-Nsed 433,880 * 1% « 43| 1,736
O S A 31,188
oA=s(It=2) 19,059
-34 Xt 19,058,580 » 1 19,059
Oo=¢ 5,003
s 960
i < Xt 40,000& = 123 480
JIELE 20,000& = 29 » 12& 480
-HE2E2SY 91,000& = 18 » 123 1,092
PN = 19,058,580 / 3652 * 20 1,045
25 19,058,580& * 10% 1,906
OZ 2 =Ftdl
19,058,580 * 1/12 * 60% * 23] 1,906
O=&l 130,000& = 1H = 12& 1,560
[@FnE=3:] 130,000& » 198 = 128 1,560
OJHAIXI & HI 175,000& = 1H » 123 2,100
o=t 540
OEMOIetE 2= 90,0008 * 3" » 23 540
OEI&3(4%) 591,855,000& 591,855
O=0H=REg= 3,413,822,000& * 4.5% 153,622
CLEZE=RES 3,413,822,000& * 1.5% 51,208
OdATHMHEE = 3,413,822,000& * 2.892% 98,728
OHLEEREZ 3,413,822,000& * 3.035% 103,610
OEINRYEHERE=  103,610,000& * 6.55% 6,787
= 335,220 323,460 11,760
2= 335,220 323,460 11,760
02 22 =4l 335,220 323,460 11,760
O©4= 400,000& = 18 » 123 4,800
055 250,000 = 8% = 12& 24,000
o= 155,000& » 69H » 12&8 128,340
o7=2 140,000& = 469 » 128 77,280
089= 105,000& » 67 128 84,420
o¥azz 105,000& = 13¥ = 12& 16,380
Z40lH 1,702,790 1,671,389 31,401
303 L& 3 1,241,734 1,219,031 22,703




PNRT BB
- EEEFICEE

HO M
02 0

(=}
=]
=

]l

02
0
]
o
=

SN HH-S(BN) - MBAY - B il HlnE2

02 &&0i3 1,241,734 1,219,031 22,703
O eHA 1,191,640
OETF=! 649,778,100& * 110% 714,756
Ood - sx04dd 433,530, 100& = 110% 476,884
COHREAE 45,539,900& = 110% 50,094

04 HIREIS 461,056 452,358 8,698

02 SCALEES 461,056 452,358 8,698
CHLEEHERES 432,712
(@F=R-1ES 13,495,239,000& * 3.035% 409,581
OHAZE 762,123,000& * 3.035% 23,131
OFIRUYBEZRE S 28,344
OgErs 409,581,000& * 6.55% 26,828
OERAZZE 23,131,000& * 6.55% 1,516

AH(ISBHSSAMR NAAMEY) 43,879 25,149 18,730
= 43,879

101 @124 dl 43,879 25,149 18,730
= 43,879

01 B 43,879 25,149 18,730
OJt= 2 AS ol 2| 43,879
or= 3,656,580& * 1H » 12& 43,879
= 43,879

|23 bl 506,022 439,454 66,568

Jl23l 506,022 439,454 66,568

201 LB-2EH| 186,609 179,098 7,511

01 At 22l 179,736 173,432 6,304
OJlege=dZHl 14,500, 000& 14,500
og==g 145,200
Oga 60,000& = 5% = 118 35,400
O=3 60,0003 = 5H « 366 109,800
OYHA NE=+=+2 50,0008 * 24 * 63l 600
ogA4a d = 7 260
Ol &=+ 100,000& * 2JH 4 200
o=z 30,0003 = 2004 60
o=2d (JI&E&ZHl) 14,616,000& 14,616
OFE AL ROIZHIAIAE & 380,000& = 128 4,560

02 =224l 6,873 5,666 1,207
OYRFA SRERS 5,058
OgttsH 2703 * 1,000 = 12& 3,240
Oosilsd 1,930& = 708 » 123 1,622
otts= 1,630& * 108 » 12& 196




SN NET BIXAD
Hu: HHS YU (NP HFXAD)
¢l =gl CEE-ED
SN HH-S(BN) - MBAY - B il HlnE2
ONSA Z2Jl sAzel
34,9002 * 3MA * 128 1,257
OxD HxJ |xze
46,5002 * 1HA * 128 558
202 01| 31,320 31,320 0
01 2U ol bl 31,320 31,320 0
©JIE=Z| 31,320,0008 31,320
203 Y2 E X Y| 37,030 37,030 0
NIRRT 26,400 26,400 0
OJIF= o (LerT) 26,400,000 26,400
02 HE AR E A 6,430 6,430 0
©100% 40,0002 * 100% 4,000
©101~400% 30,0008 * 81 2,430
04 BASHYREFY| 4,200 4,200 0
© 1 % (302101 3t) 350,008 * 128 4,200
204 M@ 43 A | 164,280 125,880 38,400
NEEEEEESET 14,400 14,400 0
OB YL E Y| 14,400
04202 = 400,0009 * 1% * 12 4,800
SIEEESIE 100,008 * 8% * 122 9,600
03 SZY2AL 149,880 111,480 38,400
ou &S 117,000
062013t 50,0002 + 182% + 128 109,200
OHAYE 50,0002 * 13% * 122 7,800
CE- RS- 80,0008 * 3% * 122 2,880
oOHSRYRLY 100,0008 * 25% * 128 30,000
307 21201 A 63,443 60,726 2,717
VEEVNEE 63,443 60,726 2,717
CEEE R 63,443
OMHEES  3,035,5008 * 3.98H = 13 11,839
ONZE?IZ 3,035,5002 * 17% 51,604
405 Xt &3 S 4| 23,340 5,400 17,940
01 Hare 22 S| 23,340 5,400 17,940
OTHZA HIIY PY 5,840
Oslolge Xt 2,000,00020 * 134 2,000
Oslelgo Xt 320,00021 * 129H 3,840
OMNSA BHZY 7Y 6,000
0ol Xt 300,0002! * 207H 6,000
OHEI 7Y 500
OTHZA AHMSHEI 100,000 * 104 100
ORlela e sED)| 200,00021 * 234 400
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2N
X ZH -
L= B

el

NER #X e
HHSAAH (BT
ol

02

0
bl
o
=]

=
e

A

CHE - EI(BA) - NRAY - BYS

Off &t 24

=
i

2

9,500,000& =+ 1CH
25,0008 » 40%
500,000& * 14

11,000
9,500
1,000

500




—— A
N = 0] &F AF S & AN A
2016 204 BN MR HIXAD ~ NP ASD
SHT MRT QAT E D
B AL VESS Fo UAYY 7
SRl AIBIGHE DIFETAHIA P CERED
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
MNEF O X = 379,426 328,662 50,764
=2 57,593
Al 321,833
220 2SS FT= U 2E 95,733 85,046 10,687
2 57,593
Al 38, 140
AQIOHE OIS ™ AH A S 62,671 51,766 10,905
= 24,531
Al 38, 140
MESH QIRA 2 15,396 13,186 2,210
201 et 1,196 4,586 A 3,390
01 AP 2t 2] H| 1,196 4,586 A 3,390
Ol Al =AH A 1,196
O& 2t 11,0008 » 3= * 12& 396
Ost& 100,000& * 3= 300
o2& A I8 ZTEE H& 500,000 500
401 AlEHIZL 2 0HY| 5,455 3,000 2,455
01 Al&H| 5,455 3,000 2,455
OfIdA =2 HEIZ WM Z2A
5,455,000€ = 1Al 5,455
405 XHAHF S HI 8,745 5,600 3,145
01 AL 2 ZF S| 8,745 5,600 3,145
OfllEg AJH TZEIH((AIE)
500,000 ~ 1CH 500
oAE HIIA SESAAE
3,844,500 = 1CH 3,845
©QoIED] 2,200,000 = 204 4,400
DASE DAL 22,744 15,548 7,196
201 gEt24A Y| 22,144 14,948 7,196
01 AP 22| d| 21,024 13,868 7,156
OolJAAHR F& 11,260
o= AMsX 21,000 * 208fA « 12& 5,040
ooz 70,000& = HhE8A 350
OFosE sx=2 X 28,000 = 108fA 280
OolzZiielgdsEs2A R0
90,0008 = {8+tA 90
OZgH EH 220,000€ * 2CH * 63| 2,640
OFXEAD] EYH 260,000& = 2[H = 43| 2,080
ORAESI EY 70,000 = 200 = 43 560
Oel=D] 943 22,000& = 10 220
OEUNIE-R=" =) 2,264
O= Aol 2 Xl 52,0008 = 88+tA 416

- 22 -




SH:HETR UATED
M DAY BES F= UARE 7
Sl AIRIOHE DIRBFAHA DE CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OoaYzIIEY 330,000& * 404 1,320
OEEY 132,000 * 4MIE 528
OsMAMIX FoIE AE
3,000& * 2,500H 7,500
02 8323l 1,120 1,080 40
OdEEH Sl 1,120
OHE = A 3,700,000& * 2CH * 8% 592
OelE7| 2,200,000& = 301 = 8% 528
303 Z& 3 600 600 0
01 X432 600 600 0
OsFUSEEE At EEX A&
300,000& = 23| 600
AR 2 2 24,531 23,032 1,499
= 24,531
101 @124 dl 15,364 14,410 954
= 15,364
04 JIZHHZ2XREES 15,364 14,410 954
OUAEYREX o2y 15,364
ONALLEA oLl
48,2803 * 19 » 280 13,519
= 13,519
(OFVE=30=: N=gt g == 13,519,000& * 1.5% 203
= 203
O=H3RES 13,519,000& * 4.5% 609
= 609
OR0ALRERYI
13,519,000& * 3.035% 411
= 411
O¥INLEERES 447,000& = 6.55% 30
= 30
OdMMEE = 13,519,000& * 1.42% 192
= 192
OFEFItHI 200,000& * 23| 400
= 400
201 £B-2d| 7,727 7,182 545
= 7,727
01 At 22l 7,727 7,182 545
oxAYS =2 7,727
ogliligss s WA 600& = 2,0000H 1,200
= 1,200
O=ZHOIEZ & AARES3 58,700& » 10& 587
= 587
OWAAOIA HE 6603 * 9,0000H 5,940
= 5,940
202 odl 1,440 1,440 0

_23_
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SH MR

o
@ﬂ:%%ﬂré%*;%fﬂ%ﬁg 23
Sol: AAED MES NEVHSSE 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CnEZEERE3 3,139,000& * 1.5% 48
= 48
OI20HZRES 3,139,000& * 4.5% 142
= 142
OIUHLEHREZ  3,139,000& * 3.035% 96
= 96
OWINRAEERELES 96,0003 = 6.55%
=
OMHEE = 3,139,000& * 1.42% 45
= 45
201 LBt 7,279 7,279 0
= 7,279
01 At 22l 7,279 7,279 0
ONEBAHSENR Y2FT(7H) 6,439
O&EUH #¢ 220,000& = 1504 3,300
= 3,300
O=AE8X 2 21,000& * 508t A 1,050
= 1,050
OLAEBAIMN R0 5,000& * 68 = 50& 1,500
= 1,500
OEX s ANREE F¥ 58,900& = 10& 589
= 589
ONZBHE=ZA 2EH|(2H)
7,0008 * 4F « 53| » 6& 840
= 840
202 4l 2,880 2,880 0
= 2,880
01 = LH o4 bl 2,880 2,880 0
ONEBHHEE F2FH GHI(72H)
20,000 * 4F * 3 * 123 2,880
= 2,880
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OMEE HNAAX ¢ 250,000& = 10X 2,500
oags AR ¢ 200,000& * 15X 3,000
OAMEHA HAD P¢ 250,000& =« 1CH 250
OAMSA diLtet)] 2¢ 2,000,000& = 1CH 2,000
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= A
N = 0] &F AF S & AN A
2016 204 BN MR HIXAD ~ NP ASD
A MEF sSME M
N NEHHM 243 DB
Sl XN B E2 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
NER sSAHE M 1,764,706 317,543 1,447,163
NSEAM 43 Dlet 9,526 12,505 A2,979
NEHH 483 &2 9,526 12,505 A2,979
AMOIME Ot™ G DB XM 3,570 12,505 A 8,935
201 2Et2Hy| 770 5,355 N4, 585
01 AP 2t 2] H| 770 4,155 A 3,385
OXAAMA SOIOHE S A NESE S
| 7,0008 * 2% * H5Y 770
202 04d| 1,600 1,600 0
01 2L HI 1,600 1,600 0
OXSAMNA , SOIHE & R FE ]
20,000 = 29 x 40¢ 1,600
301 et A= 1,200 0 1,200
09 HAIAHIBEAZ 1,200 0 1,200
OMBF JlgolEos & 24Es 24
300,000 = 43| 1,200
HHHEHRE2H 3,956 0 3,956
101 Q121 H] 2,406 0 2,406
04 JI2ZtHIZ22NEES 2,406 0 2,406
OHEI HIZEA EX0E
48 2802 * 121 % 45 2,173
OJ|2tH 22X 48 2 233
OAdEBgs82=2 2,173,000& = 3.035% 66
OIAEsasad=2 66,000 * 6.55% 5
O=0AZRE= 2,173,000& = 4.50% 98
OlEEssedg2 2,173,000 = 1.50% 33
ONATHHEE = 2,173,000& = 1.42% 31
201 et 1,550 0 1,550
01 AR 22l ] 1,550 0 1,550
OHEI HIZA L FAIZAES K0
100 * 2= = 2,0000H 400
OHEI HIIZAF St &9 X &
70,0008 = 1004 & 700
OHEI MESX HE2& K0
500& x 1= = 5000H 250
OHBINHANE SE(MI|EH, BHUHAICH)F
Q! 100,000& * 2= 200
IIMAESZ2E L JPAOHA 2| 2,000 0 2,000
201 et 9| 2,000 0 2,000
01 AP 2t 2] H| 2,000 0 2,000
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N3 sSLEH D
AE XA =8 & 22
NPT 84 2 25 cHol )
SA-EHH .o (3H) - NRAY - BAS il HDS2
206 M = Hl 1,500 1,500 0
01 & bl 1,500 1,500 0
O &= S A 1,500
OZ#H S 43 15,000& * 100K 1,500
AE H 2 BSAY 43,494 18,864 24,630
201 L2 H| 4,094 4,664 A570
01 A2 22| bl 2,100 2,400 A 300
odls <M =9 HE 70,0008 = 300H 2,100
02 =294l 1,994 2,264 N270
OdlsLHI AZH(ER)
1,325& = 250 x 30 994
Oz NIl S 1,000,000& = 14 1,000
206 M = Hl 39,400 14,200 25,200
01 M= bl 39,400 14,200 25,200
Ox=2tFAIES A 4,200& = 7,0004 29,400
SLHSLHNS <A 10,000 = 5004 5,000
osgdMEs ¢AH 10,000& = 5004 5,000
[NPARSE=2e ) 1,920 9,420 A7,500
202 O B 1,920 1,920 0
01 2LHA Y] 1,920 1,920 0
OaXI&dE5It2dA =& ol
20,000 « 29 « 48Y 1,920
otz 4 22| 113,062 129,888 N 16,826
201 LEt2 Y| 2,773 5,024 N2,251
01 AR 22| bl 1,100 2,200 A 1,100
OZHIUXZ (It 0/4l)
550,000& * 1CH * 23] 1,100
02 33234l 1,673 2,824 A 1,151
OJI24 Zel&d =44 200,000& * 504 1,000
OJt24 22 &dH 88U 673
Od% 1,3256& = 4L « 704 = 15¢ 557
oY 5,500& * 0.2L » 704 = 15¢ 116
401 Al HI L £ 0HHI 110,289 120,864 A 10,575
01 A& HI 109,500 120,000 A 10,500
OANNHE=28 JI24 ZIIA HMHANUHE o)
15,000& = 4,800 72,000
OANE=28 JI24 ZIIA HMAH(SHA =)
15,000& = 2,500 37,500
03 AlE 201 YI 789 864 NTH
QAT JIZ2 ZIHAl HAHAMY =&
109,500,000& * 0.72% 789
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SN HRT SEMSHD
2=

Yy A=K
SRl TAZEE & sNAE2e (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Sd =X 2el 1,427,467 0 1,427,467
CASE & sIALE2 1,427,467 0 1,427,467
283 22 773,115 0 773,115
201 Let24d] 179,770 0 179,770
01 At 2teltl 20,770 0 20,770
OZ& HIIANE HHAE =2 12,730
ozdg 63,0002 = 704 4,410
Oos=+ 13,0002 * 6404 8,320
Ox=ZANE =ZZA =8
30,0003 = 82 + 63 1,440
O3Js & X FL U =2 6,600
02 2324l 159,000 0 159,000
o®II3(IIER)
120,000& * 7004 123 100,800
O32E RHEZI s4R=2
5,000& * 70002 * 128 4,200
ootk 2=
3,000& * B0 = 2500 = 128 54,000
206 M= Hl 30,360 0 30,360
01 T2l 30,360 0 30,360
OZ3UW HIIANE RANE+= N 2,320
OAMete! Ol E 2 (150W) 68,0002 = 204 1,360
OHE&= o-XI|(150W) 28,0003 = 2004 560
OXteIl & S/Ws 20,000& = 2004 400
OZ3U E=8 217¢ 1,000
Osdgeteldel 13 500,000& =« 2CH 1,000
OZJANE 2283 250,000& * 168 » 43 16,000
OZANZSd st&Ead HAXMN 11,040
Ost&EX 33,000 = 120=tA 3,960
oM g JlS = (100L) 1,770& = 4,0000H 7,080
305 a2 S 1,500 0 1,500
o1 Hia=s 1,500 0 1,500
OZ23L o4 500,000& * 3A 1,500
307 glz2tol & 377,574 377,574
05 RIZIRI &3 377,574 377,574
Ox=ZAE 22EA(BMHA) 42,000
OAMZE2ZAR 7THA(HE, HE, EX, 2=
) 42,000,000& = 14 42,000
033 L St&A ZeER(15MHA)
335,574,000& * 14 335,574
401 AlEHI R 2 OhYI 183,911 183,911




SN HRT SEMSHD
=

Ha: D=L
SRl TAZEE & sNAE2e (&)
. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 182,596 182,596
O33s |X2e 250,000& * 1503l 37,500
oS4 Stz FEX HoA¥RA &X
15,000,000 14 15,000
Ox=ZANE RANUE2(8MHLA) 20,000
O2H % sdkelegs s
20,000,000& =« 14 20,000
O33E RHEE) & 2dE LA
6,000,000& » 3H 18,000
OZ2EZSH W Ad28 X222l (200H2)
1,000,000& * 200H £ 20,000
OMSAE, s0IAd E= 6,000,000& 6,000
O2e3&d W =sXAE AZ22 56,096
O=XNAE As2el (M) 28,059
- M = 680& = 5,895m = 13| 4,009
Il AR = 2903 = 45,000m = 13 13,050
= D= g 500& = 18,450m" = 13l 9,225
-=SHAK 2,120& = 837m = 13| 1,775
O=XNAE AZ2el(ME2) 28,037
-l M = 680& = 5,895m x 13| 4,009
“JI A M = 290& = 45,000m = 13| 13,050
—t NI AT 500& = 18,405m" = 13| 9,203
-==8H AR 2,120& = 837m » 13| 1,775
oHldEd FX&X 10,000,000& * 1JH 2 10,000
03 AIE2 2 THHI 1,315 1,315
OZ& & =3 A&2el R0l
182,596,000& * 0.72% 1,315
goI2d 2el 331,228 331,228
201 2Bt | 7,920 7,920
01 At 2teltl 7,920 7,920
OZ3 W S2XdA s U= ME
10,0003 = 300 » 4400 A& 1,320
OUEO0Is0IAIE ZIANEZEA =2
300,000& 2200 2 6,600
206 24 2,327 2,327
01 MHZ 4l 2,327 2,327
O0eolsd 22l M=l 2,327
OMgo] S S (100L)
1,770& = 1004 = 78 » 123 1,487
(OF=E~yp 10,000 = 7% = 12& 840
307 21201 A 26,050 26,050
05 RIZt2IE = 26,050 26,050
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SN HRT SEMSHD
=

gz ZF=sN2e

NZE 8 sXA&Re SREED
K- B8 S2(3H) - HSAY - B2 o A o SSa H RS2
ONEols& X&A0 29¢9
361,800 * 6H = 12& 26,050
401 Al HI L 2 0HHI 294,931 294,931
01 A& HI 292,822 292,822
ONE0l=& ZelAg 136,822
O02I0I 2 Z2lAH (M1, 230HA) 71,792
=P S B680& * 2,400m * 33| 4,896
Il AH M = 290 * 20,125m" x 33| 17,509
=S| 2,120& * 1,070m x 23] 4,537
—SEEA 1,000& = 44,850m 44,850
O0BI0I 2 ZH2IAH (M2, 210HA) 65,030
-0l = 680& = 2,040m * 33| 4,162
Il A M = 290 * 16,500m x 33| 14,355
=R SDN| 2,120& * 1,760m x 23] 7,463
-SEEA 1,000& = 39,050m 39,050
ONEIOIZS& AIEE B4 22ALY
1,000,000& * 4404 4 44,000
ONE0lsd 2d3clY
4,000& * 2,000m * 43| 32,000
OFANEOI=& HEYE At
60,000,000& * 14 60,000
O&+0Ee 02 HHIALY
20,000,000& = 14 20,000
03 A& 20HHI 2,109 2,109
ONE0l=& 222yl
292,822,000& * 0.72% 2,109
=3 22 36,045 36,045
401 AIEHIL 200 36,045 36,045
01 A& HI 35,659 35,659
OA233 Z2AY 15,659
Ol = 6803 * 400m * 33| 816
OJI A M = 290& * 3,850m * 33| 3,350
(OES=PSPN 2,120& * 220m % 23| 933
Os3dA 1,000& = 10,560m" 10,560
O23& ANEZS B Z22AY
500,000& = 1090 2 5,000
OEHHZTHE(AIES) 15,000,000& * 14 15,000
03 AlE 2 HH] 386 386
OA3& 22 204 35,659,000& * 1.08% 386
XAlE 22| 287,079 287,079
101 2124 1| 47,850 47,850
04 JIZtHIZ22NHEE 47,850 47,850
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2N
X ZH -
L= B

el

SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
ORZZS ¥ 220=¢
54,0502 * 4% * 2002 43,240
042 EE 4,610
O=ploizeez 43,240,0002 * 4.5% 1,946
O=IAYLLI  43,240,0008 * 3.035% 1,313
OFIQUBEERLS
1,313,008 * 6.55% 87
ONBEHILLYS  43,240,0008 * 1.5% 649
OdMaHZEE 43,240,00090 * 1.42% 615
201 et2 | 1,836 1,836
01 At 22l 600 600
OsXU SN S oS M=
10,0002 * 6074 600
02 ZZ 2l 1,236 1,236
O=XAIE HABHI(HLER)
1,51380 * 4L » 704 * 15 636
O=X A& 22lZH RXHl 50,0008 « 128 600
206 T & bl 6,150 6,150
01 MZ I 6,150 6,150
o2 aeyl 2 1,700
ORJIEH 2 7,0008 * 100X 700
o=sul2 20,0008 * 50 1,000
o0 222 (gHl) 4,400%! * 500% 2,200
OO BAE H0IPY 45008 * 5002 2,250
305 &2 S 1,000 1,000
01 a2 S 1,000 1,000
O=X W maHea 500,0008 * 221 1,000
307 212+0| & 21,708 21,708
05 212t9 e 3 21,708 21,708
ONSRZHEE 4HL A9
361,800% * 5% « 12 21,708
401 Al HI YL 2 THHI 208,535 208,535
01 A&l 207,051 207,051
ONE=T 2elAY 54,601
ONAE=XIBRIAL (X P) 10,933
ENES 6802 * 3,100m * 13l 2,108
P D ES 2908 * 30,428 13 8,825
OAAESTIB2IA (&, JHAIXIP) 23,228
SENES 680 * 7,060 * 13l 4,801
U NES 200% * 63,539m * 13| 18,427
OAN& =X Z2IA (85, HZXT) 20,440
D ES 680 * 6,317 * 13l 4,296




SN HRT SEMSHD
=

H: SJA=sK2
S TAISE L =sIAE22 (2 &HH)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Il HH = 290& * 55,666mM x 13 16,144
Oll=X 22 At 38,230
OllsX 22 A (MET) 12,800
-OlEH = 680 * 2,500m * 13| 1,700
Il H M = 290 * 20,000m x 13 5,800
-=8 &K 2,120& = 2,500m * 13| 5,300
OUlsXZ2 A (HM2) 25,430
-OIEH = 680& * 9,300m * 13| 6,324
Il AH M = 290 * 7,400m % 13| 2,146
RSP 2,120& * 8,000m = 13| 16,960
O=x=4Y 2l A Y 12,600
OMEUHZR 6H
2,100& * 6,000m * 13| 12,600
Ozd, sS4, Y=l 22AeY 3,620
Oz A2 ALY 2,178
-ol&E |l = 680& * 900mM * 13 612
Il AH M = 290 * 5,400m" % 13| 1,566
OnEsE & A=l 22Ag 1,442
-OIEH = 680 * 1,800m * 13| 1,224
Il H Ml = 290 * 750m° * 13| 218
Oll=X 2s25H 84,000
Ole=stze 20iH 7,000& * 5,000m 35,000
OAMZHZ2? M 7,000& * 7,000m 49,000
Oll=X EA AL 5,000& * 1,000m % 13| 5,000
O=XNUW 2= &X(3L)
9,000,000& = 1A 9,000
03 A& 20H b 1,484 1,484
O=Xl&cl 2yl 206,051,000& * 0.72% 1,484
HHSHAL (MR T sSAF D) 113,227 73,394
A2AHI 73,723 73,723
Pallsl! 73,723 73,723
101 2124 d| 73,723 73,723
03 2INAHAZZXHE %= 73,723 73,723
o=d &2 73,723
ods(or2) 25,009
-122 = 25,008,030 * 1 25,009
OJFAH X & Hl 175,000 ~ 198 « 12& 2,100
O=&t| 130,000& » 1Y x 12& 1,560
Ou Sl 130,000& + 1Y = 12& 1,560
OY &SI
25,008,030 / 128 * 60% * 1¥H * 23] 2,501
o= 10,101
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2AMd: A

PSP 3 ZHI(ME R sSAME ML)
bl eEH)
MY .S (3H) - HRAY - BES il 2t
=25+ 25,008,030 * 10% » 1Y 2,501
-hEsY 480
- B 2 Xt 40,0008 * 18 = 12& 480
-~z LY 91,0002 * 1 « 128 1,002
sulz4y
91,000& » 1¥ = 4& = 12& 4,368
-AX = 83,000 » 1H » 20 1,660
Ol =t 90
-&g= 90,000& *= 1H 90
odE(a) 17,737
-158 17,736,480& * 1Y 17,737
OZ2 &bl 130,000 *~ 18 = 12& 1,560
[@FnE=3:]! 130,000& * 198 = 12& 1,560
OY &SIyl
17,736,480& / 12&€ * 60% * 23l 1,774
o4 8,081
-hEsY 960
- Bl 2 Xt 40,0008 * 1¥ = 12& 480
- EHlS 20,000& * 2% x 12& 480
EESPNESE=, 30,296,430 / 3652 x 20 1,661
-HE3IZEzsY
9,100& * 10AI2t = 1€ = 128 1,092
-FdIRY
9,100& * 10AI12F » 198 x 42 x 12& 4,368
Ol =t 90
&= 90,000& = 1H 90
| 22ZHl 39,504 39,833 A 329
DR sl 39,504 39,833 A 329
201 L2 | 19,074 16,983 2,091
01 At 22l Yl 16,064 14,672 1,392
OJI=AHI (S &H|) 8,064,000& 8,064
OgRsdEs J2dH 8,000,000 8,000
02 352494l 3,010 2,311 699
O=ssSMZHYERFR RERS 2,650
OsII 1,930& + 700 1,351
Ot 2703 * 3,000 810
OsJlets 1,630& * 300 489
)l aX2e & ZEHwE 60,0008 * 63 360
202 (4] 17,280 16,200 1,080
01 2L Y| 17,280 16,200 1,080
©J| =& bl 17,280,000& 17,280
=& 3,150 3,150 0
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n0

Kio

Hl w

H3r
Wikd
RIS

3,150

Off &t 24

3,150
3,150

350,000& * 12€
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20168 & 20

o UBE| X HED

SN MER HRD
Za: TeH e
Sl FEE KWAH £

A

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
M2 NS 437,607 457,747 220,140
XAl 2tel 350,523 384,877 A 34,354
st NEA 21 202,366 236,958 A 34,592
NgH 23 ¥ 28 202,366 236,958 34,502
201 L2l 200,850 214,336 N 13,486
01 A2 2218l 67,834 68,540 AT706
OXNgAHEREU B2 =& 42,253
O&JIIZ2LXNAM 72,6003 * 2834t Xkt 20,546
O=ANZ2IX A 72,6003 = 164t At 1,162
OXNsSXMSE XA 72,6003 » 224+t 1,598
OXg=EIXNAM 72,6003 » 164Xt 1,162
OMel=+= DX A 72,6003 » 25&FKt 1,815
OXNgME=Z 2t 2 1002 * 60,000 6,000
OF=—F= 100& = 20,0000H 2,000
Ol=% 200& = 5,0000H 1,000
O=AMEX 21,000& » 704t At 1,470
O&H 220,000 * 2504 5,500
OX&gA 2L 10,781
OXNYME &8 2=z M
2303 * 4Z = 5,0000H 4,600
O8=+92 M 70,000& = 73| = 704 3,430
O 2t T 33,000& * 73] * 11004 2,541
Ot g 2te 30,000& = 73l * 104 210
ONH[ITEHI 422 14,800
O&H 350,000& = 104 3,500
Otig=H 350,000& = 204 700
oced 700,000& = 204 1,400
OZcldbig=2HRR 2,600,000& = 13l 2,600
OFHsH 2,500,000& = 14 2,500
OEHEH 900,000& * 12K 900
OXH 1,000,000& = 1JH 1,000
O0I&sgE 2,200,000& =+ 124 2,200
02 =224l 133,016 145,796 A 12,780
O RELI(HIEZ, =AME, HEE, 2UHI2) 127,320
Og et 2703 = 300,000 81,000
OsI 1,930& » 24,000= 46,320
OHF AR EHl FAlHI 5,696
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1,000,000& =« 8CH 8,000
OgxaILEI SAEH|
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02 AN Y| 2,040
Odtd SYHP S5 BHAHY|
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